ALL 4 EXERCISES must be done and ALL WORK MUST be shown PLEASE.
In exercise 14, put the linear inequality into standard form.

14.    -2x <  4

In exercise 16, DETERMINE whether or NOT the given point satisfies the given inequality.

-2x  + y  >  9,  (3, 15)

In exercise 48, DETERMINE whether the GIVEN point is in the feasible set of this SYSTEM of INEQUALITIES:
Exercise 48.    (16, 0)

                                                        6x  +  3y   < 96

                                                           x  +  y  < 18

                                                        2x   + 6y  < 72

                                                         x  > 0,  y >  0.

In exercise 50, DETERMINE whether the given point is ABOVE or BELOW the given line.
Exercise 50,       3x  -  y = 4, (2,3)
Please make sure ALL work is shown for these MATH problems.
